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1. QIBYNANIUTLNOUIDY x° — 16

1597 Xx° — 16 = (X + 4)(x — 4)

2. 99LUNEIUTLNOUIOY x° — 25

aal o 2

1N x° — 25 = (x + 5)(x — 95)
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A2 — B2 = (A + B)(A — B)
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(WAIKRIEN)2 - (WIBRRY)?

= (WIURUN + WIURKI(WIURUT — WIULRAI)
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NI0UNINT ILYNANIUSTLNOUVIOY X° — 4

891 x° — 4 = x— 2°

(x + 2)(x — 2)

GO X — 4 = (x + 2)(x — 2)
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£120879912 99LINAIUTENOUVDY y° — 9

8 vy — 9 =y &
(y + 3)(y — 3)
P9IaL v — 9 = (y + 38)(y — 3)
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30)(x — 30)







(2x)° — 3

(2x + F)(2x — 3)




8. 25x° — 121

WY1 25%° — 121 (5x)° — 117

(5x + 11)(5x — 11)




9. &1x° — 400

981 81x° — 400 = (9x)° — 20°

= (9x + 20)(9%x — 20)




10. 64%x° — 225

9891 64x° — 225= (8&x)° — 15°

= (8x + 15)(& — 15)
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